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AN - I (PART - 1)

[3]

[A]

919 fae g REII (CHILD DEVELOPMENT AND PEDAGOGY)
3T : e 797 % o7 &7 & [ qa9g ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|«

[

|

Tedl gfs Qe fehe S ?

(1) qdex

(2) §

(3) w~ag TMeed

(4) oTers fom IR dEEe

IS &l ST ST g8 S99 bl
g & A R Shavem § R,
UoMTeTs oI gMice &9 9@ 3hd
gecld 8, Hedl 8 ¢

(1) S~ Faes

(2) wWEel FfaEs

(3) fomETT® AT

(4) TARTHS HAIA™

frefafag & @ 991 T
RE 7&f B 7

(1) gen (2) 9@
(3) 9™ (4)-fagm

I8 e Fer 6 “[epEen 9m,
@, T o Ol oraer 8 7
(1) ffemm wgo w@q

(2) V- &

(3) o To EEWhie

(4) 9 s

frafafag & ¥ aF-91 W &} veq

g@m%ﬁmﬁﬂ%m&m & Jeadq W
?

(1) g9 G919 ST

() fera st

(3) IIT A

(4) Tgfasies S
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1.

[

|

[

g

Who developed the first intelligence
test ?

(1) Lavator

(2) Sanguin

(3) Francis Galton

(4) Alfred Binet and Simon

A branch' of psychology which
studies how people change physically,
cognitively and socially over the
entire life span is known as :

(1) Clinical psychology

(2) Counselling psychology

(3) Developmental psychology

(4) Experimental psychology

Which of the following is not the
innate motive ?

(1) Safety (2) Hunger
(3) Thirst (4) Rest

Who stated that "Adolescence is a period
of stress, strain, storm and strife" ?

(1) William H. Barton

(2) Stanley Hall

(3) J. A. Hadfield

(4) Jean Piaget

Which of the following is the highest
level in hierarchical theory of
learning given by Gagne ?

(1) Problem solving learning

(2) Principle learning

(3) Concept learning

(4) Multiple discrimination learning

P.T.O.
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6. fefeiad & @ $9-A A A= 6. Which of the following is the non
P IAd THHID & projective technique of personality
measurement ?
(1) RIECR GRS (1) Association technique
(2) FEEIEGE Ffafy (2) Sociometric technique
(3) & ufafy (3) Construction technique
4) E[ﬁ yfafy (4) Completion technique
1. Mefafad § § P9-A1 o8 ANRIS 1. Which of the following is not the
W P Tl TE ° 7 characteristic of good mental health ?
(1) |l TRy (1) Emotional maturity
(2) SATHfAATd (2) Self confidence
(3) SR (3) Intolerance
(4) STTKH EI\RIFFT & & (4) Capacity of self evaluation
8. Mg & ¥ HE-AT I S 8. Which of the following concept is
RRIS I IS S B e CEA K M TS EA R | not introduced by Jean Piaget in his
¥ g ? Cognitive Development theory ?
(1) FAHEAABIT (2) FHITEIH (1) Assimilation (2) Accommodation
3) SIEIREA 4) H@Tﬂ (3) Symbolic (4) Equilibration
9. F=foiRag & @ H9-a1 TF IO 9. Which one of the following stage is
3 o & e & S 0 EN not prescribed by James Draver in
PR sxoi 5§ 78F & 2 ﬂllle c:)ntsxt of development of
. character ?
() Gil'tlﬁ'% SRR R (1) The stage of crude emotion
(2) A F A (2) The stage of sentiment
(3) SHEHA A (3) The self regard stage
(4) TRURS =TT B SINISEI (4) Conforming conventional stage
10. TEMIHS 9™ ® Hﬂm—ﬂi@ﬁ?ﬁ 10. Who was the founder of socio-culture
Rrsid & 96 B & 7 theory of cognitive development ?
(D) SF @™ (2) 9 ) (1) Jean Piaget (2) Jerom Bruner
(3) W9 AR (4) PEATT (3) Lev Vygotsky(4) Kohlberg
11. F=loifag & 9@ -9 afde J 11. Which of the following is not the
H uaq ufefy 78 2 ? type of projective technique of
(1) 9= qread e personality mea'sur.ement ?
; (1) Word Association Test
@) W l & = (2) Woodworth's Personal Data Sheet
() ar Eﬁ et (3) Sentence Completion Test
(4) R FurE ale (4) Thematic Apperception Test

Level-3/321



12.

=
w

frefifeg & @ #9-91 ded 3N
gfaied SAfdd & TS [A9E Bl
YHR 78 o ?

(1) iR (2) = ==

Q) Wl @ (4) Gieart

g g T & U Sws Sy
e (Hied) AR & bl § 7

28578 @0F4a

(3) 16 ¥ 18 a¥ (4) 3 4 10 a9
frfafag & @ aF-di aEen &
faqrar 72 & °

(1) ATIRET & IR HA
& 20% B Bl

(2) R 3& i TER SEdl 8l

Fd WX B 9]

(3) =R TG T B

(4) qFTYH A o =
W Ugd SN Sl

frefofeg & @ H9-G-IReRer @i

o7y faQwar ® ?

(2) ARMIRT =ger YO i 2

(3) ARBIRG HIER & Wi HOR
Bl B

(4) ARPROT A= F Feil qREeH
Fl B

Wﬁﬁg@ﬂﬁﬂ&bm % AN

qMfe  Heal dd SRl
g@aﬁmﬁmw@é’r%?

(1) 529 67 (2) 369 51
(3) 209 35 4) 209 -
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[5]

12.

14.

15.

[A]

Which of the following is not the
type of dynamic trait of personality
given by Cattell ?
(1) Attitude

(3) Sentiment

(2) Urge

(4) Conservative
For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2to 5 yrs. (2) 0 to 4 yrs.
(3) 16 to 18 yrs.(4) 3 to 10 yrs.

Which -of the following is not the
characteristic of Adolescence ?

(1) “Weight of muscles 1s 20% of

total weight of body.
(2) Tendency of day dreams
increased.

(3) Vocabulary too increases.

(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal oriented.

(2) Motivated
continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

According to Stanford-Binet IQ
scale, what is the IQ range of low
mentally retarded children ?

(1) 52t0 67  (2) 36to 51
(3) 20to 35  (4) below 20

P.T.O.
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17.

Td & TR Hsid & ufdues di
g ?

(1) et I9

(2) AR

(3) & WY

(4) Sflo WA B

fr=ifoifeg & & H9-91 t% omeEal @l
faQraetl & det ¥ 7T wuA R ?

(1) omeg fafire Rufy & oo @
yiafshan 2|

(2);@&3@%@%#@
|

(3) oTed ol diE @ diEr yae R

(4) TMEd Fad GO URRfRT 8
W UEfid &l 2

frfofag & & @9-a1 Rara Iftem

gi o sl @ gefed T8
?

(1) AR I H s

(2) e id & s

(3) GHN 919ud &l [HaT=

(4) TEFEHT A RS

frafofag & @ @9 9FeEs @
FEae ST H F H J@ e ?
(1) IEIush FfshaT T

(2) AWM # ¥y s

(3) STgsfaa argfehan &1 s
(4) FE wd e B s

21. FrefdiEd § @ @A oMy

TGS &l ARG 3ehI & 7

(1) T FIER W &AM Hivsd B 2l

(2) SIS Rl W e i
FT B

(3) S HeTET W biad Bl

(4) J5Y YA P AR T dbisd ol

Level-3/321
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Who was the propounder of
Anticipatory theory of play ?

(1) Karl Groos

(2) McDougall

(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is

the wrong statement in context of

characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit. 1s acquired through
heredity:

(3). Habit  is a well Ilearned
performance.

(4) tHabit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline

(2) Theory of rote memory

(3) Theory of identical elements

(4) Theory of generalisation

Which of the following is not the
other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuses on overt behaviour.
(2) Focuses on cognitive processes.

(3) Focuses on the biological events.
(4) Focuses on critique of male bias.



22.

Frfoied & @ $9-°1 06 qavgrEm
3l faQwaret & gt § Tgg FeN B 7

(1) ey ST B B

(2) JAvgfT aga afemen e 2
(3) JavgrT STeueI® il ol

(4) YRR ARG @9E ol

23. AR, Mo @9, 9w iR o= 3=

qHe e 9

Sl qHEfE
TiafafeE @ wer S R

(1) g7 =&

(2) 951

(3) 9T

(4) SE@/aE

Freifafad & & SF-a1 & ST
g7

(1) TRFM ws ufskar B F-f% Sam

(2) A uR 3T IEEYE Bl
Bl

(3) ARFE & & UH S D

(4) R o dfET Beet # am
BN a FEgeR & URaad ot
e 99 S

25. g § § H9-91 So dio fame

N e g & RiatE aew & o
e favas] B YER T8 © !

(2) SOTeH
(4) HAGRRS®

(1) Srpicrn
(3) Himia®

Level-3/321

[Z]

22.

25.

[A]

Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called.:

(1) -Visual images

(2) Cognition

(3) Concepts

(4) Propositions

Which of the following is the false
statement ?

(1) Learning is a process not a
product.

(2) Learning process is
purposeful.

always

(3) Area of learning is broader.

(4) Behaviour changes through
instincts and reflex actions are
also considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural (2) System
(3) Symbolic (4) Behavioural

P.T.O.
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26.

Frefafad & & a9-a1 &fa & dw

H el b FH ©

(1) M — g7 TR — 9RO —
REEIR]

(2) §T: T — ARFH — gRT —
REEIR]

(3) ™ — I T — T@EH —
R

(4) HARFM — gRT - G TR -
REEIR]

27, GOl & QN9 U9 H9ed @ foU

qRask Joad fafyr @ AfueT e
foba o ?

(1) A4 (2) T

(3) S (4) A

Peffes & @ deaw @

| GE e ) B 7 - M I
e 78 ' ?
(1) T~ Sfispamd
(2) foremgs
(3) g
(4) ST HHOM
29, ffafad & & 99 @ dH-@ WX
gaael AR g@ afa & o7

foarat g R B ' 2
(1) 329 (2) ¥18q
(3) T Y (4) T Sl

Ty [y & S5 B & ?

(1) So Ho aredd
(2) faweew goe
(3) RFmTE wEE
(4) Sto THo deq

[8]

Which of the following is the correct

logical order of elements of memory ?

(1) Learning - Recall —
Retention — Recognition

(2) Recall -
Retention — Recognition

(3) Learning - Recall —
Recognition — Retention

(4) Learning — Retention —
Recall — Recognition

Learning -

27. Who propounded Brain storming

method for fostering and boosting
creativity ?
(1) ;Torrance
(3) Osborn

(2) Myres
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional energy ?

(1) Substitute responses

(2) Displacement

(3) Regression

(4) Self pity

Which of the following structure of

mind  directed according to
Hedonistic and pleasure principle ?
(1) Id (2) Ego

(3) Super Ego (4) Choleric

30. Who was the propounder of psycho-

analytical method ?
(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell

Level-3/321



[91]

[A]

[T - II (PART - II)
A1 (B g 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % Go7 &7 & [T qag ST [dwey g

31.

B qEE gD
JETET & ?

(1) g @ forn, 38 9 qEei

(2) it & TN Hg TG e B

(3) ¥ w9 fe T, o qer
TR H&|

(4) S GI9-TEET S

T H

32. ogfad fadm 9= FW gHE o
TBY

(1) fafyr — feg
(2) @@ — oo
(3) o — 7
(4) I — By

33. T Ye Yo @R SRR @ o

ardf ® ¢

(1) 399 B | I a0

(2) 3@ § gel W) q g
(3) HAG¥H R BT

(4) TEEEN T Tl

1 & & gaf § g o= -
g7

(1) g + ReX = gfafax

(2) T& + JURY = JA9EA

(3) S + W = AT

(4) T + Y = TAEAT

Level-3/321

35.

frafafag af & ded § PW-
forepeq oI ® 7

(1) I — dered, FUel, 99

(2) § — e, g6, Fgagal

(3) 9 — 3z, =Y, FYT

(4) Y.~ gE, ST, T

36. WOI.H g q ogAfia faEea @

T T
(1) ARMT = AR + 3
(2) adH = qEF + 7

(3) UEd = 9 + 7
(4) Mg = ot + 7

37. Iuq @ fffg o=t & dad § d9-a

e o7 & 7

(1) 9k — s, qiRwies, gy
(2) AT — YR, AN, HAELTR
(3) ¥ — g, FRBR, AT
(4) "fer — ot Site, S

38. YE-VH W IR W FHIT FH GAC

(1) Tl — qe 9
(2) e — A IR
(3) 99 — TT I

(4) TEHITER — & =



[A]

39.

-l @ e | FE-ar 9w

FTGTTR ?

(1) gHE — YA B HIA arel

(2) AR — W H g g AR

(3) aga® — I A F T

(4) EMT — @S ) @Ak
EISIRCH

40. 1 ¥ ¥ @77 [TH TEEy ¢

(1) 9™ — 7= 9 Sfia aaares
T3l

(2) o — gdem | FiHd AeaEs

LSEll

(3) ARN — wrears |1 @ Sifg
farQiyor

(4) i — faquer | g
CIEEICEAE|
41. gﬁﬁg&ﬁ%—mm%ﬁ
?

(1) G g G — & &l S

HEAT

(2) ST e THT @ AT —
SEE B qX SAfoor BT

(3) TR T H I — THAH e

(4) BT F Ge ® A6 4 b —
SIFERTSITCH T ST BT

[10]

42. ‘gF e Gaar 3 IHd A @l

FHHar H T

(1) @A fohehe Tl

(2) G Frbe & S 2

(3) ®ieM 9§ Fhbe Sam S o
(4) |F & a} Brbe Qe S Bl

43. 1 & & foom famew & &+ Bramd

‘IFRHE T 7

(1) Iy, GEhTHT, e
(2) 3T, Te, foe
(3) &1, &M, |

(4) T, IS, e

44. IH T G H DA T gAr

7 &7
(1) 3= | T3 R B
— feiicsTas
(2) ¥ A F1 F& TE A
— Feygs ae
(3) & Tl & a8 ST S &l 37T
— ZT/EITS q
(4) T T A9 B AT @ @I
— Hhars ared
45. ‘TG, A, MG U= Fhgeh wHgdrE
g7
(1) el (2) T=X
(3) Hoh (4) e
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[11]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(I) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym

Level-3/321

50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) Therlandlord told him that if he
wanted to smoke he would have
t0.go upstairs.

(3). The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.
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52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

it :

(A) You should

(B) tell to me

(C) exactly what

(D) happened there

() A (2) B

3) C 4) D
Select the correct preposition to fill
in the blank :

They live ........ the same roof.
(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[12]

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

51. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the.queue and got promotion.

(1) _replace something

(2). hopping

(3): blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/321
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[A]

AR - ITI (PART - III)
9MY 374 (GENERAL STUDIES)

B ARG, i STEHT T8T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

3 : e 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

frdl MiRed f § MONKEY &
XDIMNL fe@n s|, @ TIGER @&
9 foren s ?
(1) SDFHS
(3) QDFHS

(2) SHFDQ
(4) UJHFS

62. I fha fMiem Yot & 9 * 3 = 36,

10 %6 =64,9 % 1 =25, a 3 Y
X 23 * 3 % AN FT SR 7

(1) 169 (2) 52

(3) 32 4) 576

63. X 1988 ¥ 15 STTERI AR I HHMAT

T oor, @ g8 1989 # TR R meml
T oar ?

(1) 9marR (2) HEER

(3) THaR (4) ghaTL

o SOX @ e 10 el Iwar @
T8 A 6 i SRONH X T B
3G UgETq 3 fHI qd @ S =
3l 9 98 AU RN fg @
feperr ol e fr Ram H 2 7

(1) 5 aftem (2) 5 ot ST

3 7 @ (4) 7 R aiEm
U RF-RT A 9 E, T Uied |
feg #1 A, B & it IR SR E, C
% S SR & O A & 3t &R
B, D % & X B HN-91 49X ThaH
g § 7 ?

1) A 2) B

3) D 4) E
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61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDFHS (2) SHFDQ

(3) QDEHS (4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 6 =64, 9 * 1 = 25, then in same
pattern what is the value of 23 * 3 ?
(1) 169 (2) 52

3) 32 (4) 576

If the Independence Day in 1988 was
celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?
(1) Monday (2) Tuesday

(3) Thursday (4) Friday

Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5km West (2) 5 km North-East
(3) 7km East (4) 7 km West

65. There are five different houses A to

E in a row. A is to the right of B and
E is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

(1) A (2) B

3) D 4) E



[A]
66.

qelpdl H Th Ul § e & e
q a1 & o 1 F1 wWN I ¥
17af & A% I STU W oTe-Sed &
A B s ¥ 144 WM WA SR
R Uk & g frae agfer § 7

(1) 27 (2) 29

(3) 32 4) 30
0.3467 +0.1333 THM BT :
(1) 0.48 (2) 0.4801
(3) 048 4) 0.48

& ST A ST 98 G BN
127, 128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 (4) 341

69. I A H o e, B & Y

‘ger@’, C # o ‘Ao, D @ o1y
) K S I £ S e B RS RS K |
T BI 7
1I8A12C6D2BS5 =

(1) 25 (2) 27

(3) 15 @) 17

e & T SRR S H e gu e
B T B

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca

(3) dbbca (4) bbdac

711. BFE @ % oWga ok aRdd &

BSItheT BT STUT BT
(1) 1:4 2) 4:1
3)1:2 4 2:1

11, 11.11, 0.11, 0.011 & HoHoYo
T BN 7
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111
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In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
right, if they interchange their
positions, Shilpa becomes 14th from
the left. How many girls are there in
arow ?

(1) 27 (2) 29
(3) 32 4) 30
0.3467 +0.1333 is equal to :
(1) 0.48 (2) 0.4801
(3) 0.48 (4) 0.48

Find the™next term of the number
series:

127,128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 (4) 341
If A means 'plus’, B means 'minus’,
C means 'divide by, D means
'multiply’. Then what will be
simplified value of
1I8A12C6D2BS5 ="

(1) 25 (2) 27

(3) 15 4) 17

Find the missing letters in the given
letter series :

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca
(3) dbbca (4) bbdac

71. The ratio of the areas of the incircle

and circumcircle of a square will be :
(1) 1:4 ) 4:1
3)1:2 4 2:1

What is the HCF of 11, 11.11, 0.11,
0.0117?

(1) 0.011
(3) 0.11

2) 1.1
4) 0.111



2) 16
) 10

(1) 18
3) 12

& @A 132 HieX ug 108 HieX
Tl Th-gEl § oo R § o @
g ot 9w @ @ 32 REHvEer
qa g W 40 Rl B Re
g § 9 TH-gE Bl IR HT A ?

(1) 880 (2) 10 Fo
(3) 12 ¥o 4) 11 ¥o

g 7 93 7 FUA B 8 gUAH &
wbd ¥ A, 70 T 70 HREH T
g fohae g TP

(1) 8 gue

(2) 560 g

(3) 56 g9

(4) 70 gu

el a%] 1 T 20% ¢ I B, At
AT fhEl ST &7 9T JUHRT
g fohae oS @ A B G 9N B
SH% @9 | B g el 8l 7

(1) 16%% ) 15%%
3) 17%% 4) 16%%
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[A]

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 11 | 25
8 6 16
12 5 ?

(1) 18 2) 16

3) 12 ) 10

Two trains, 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.
(3) 12 sec.

(2) 10 sec.
(4) 11 sec.

15. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?
(1) 8 hours

(2) 560 hours

(3) 56 hours

(4) 70 hours

The price of any item is increased by
20%. Find the reduction in the
consumption of the item by a
consumer so that there is no increase
on his expenditure :

(1) 16%% ) 15%%
3) 17%% 4) 16%%



[A]

11.

242424242 T HF F|T BT 7

(H 0 2) 2
(3) 1 (4) 231/32

% 10,000 =pgls &1 & &9 | 5 a9
¥ M & 9 8 @ 20 9§ 9sEg
SHl Tgfs &N B W § T@ 9
feperaT &1 S ?

(1) 40,000  (2) T 60,000
(3) 80,000  (4) T 1,60,000
AT BH €I 10% a9 ¥ 39 & )k B

TWCH 0% W q Ja & R CH
g3 & e % 990 IHAT &, q TR A
- 39 Sl N fbe H wlar o ?

(1) T900 (2) % 1,000
(3) T1,200 4) 2950
215 YU aArcll Tedh e § -

YU S:68 S ?
(1) 12 2) 11
3) 13 4) 14

‘SRyAr WiYe EHT SR R
S B

(1) o T Se=eh f&er am
(2) BT A AT ST
(3) BRATT H&pa HBEH &N
(4) BREen Bd gy stEHl 51

82. ffeiad & & & 2021 § ‘ggw

qIOT A<t & 7
(1) ST FEE Ed
(2) a= R
(3) A R
4) g e

Level-3/321

[16]

71. What is the value of \/2\/27 V20242 2

(o
31

2) 2
(4) 231/32

A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :
(1) 40,000
(3) ¥ 80,000

(2) 60,000
4) % 1,60,000

79. A sold awatch to B at a gain of 10%

and B.sold it to C at a loss of 10%. If
C paid ¥ 990 for it, then how much
amount paid by A ?

("% 900 (2) % 1,000

(3) ¥ 1,200 (4) %2950

80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto 5:6?

(1) 12 2) 11

3) 13 4 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3) Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82. Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh



3. T/ H fafeq @i, Fores/fmd
A P I e B
(i) THaRd
(ii) = A B AEN A
(iif) P
(iv) B H7l
F& FT H TIT BT :
(1) F=a (i)
(2) (i) 3 (i)
(3) (i), (i) AR (iii)
@) (i), (i), (iii) AR (iv)
fFefofad & @ fpg <& &1 ST
O GIT B 7
T
(1) aeEa
(2) F=r

SERLIRSE]
— HaT H TErSAl
(3) UR&vET  — fEiers @ geiedr
(4) T — AR # veIEE
85. freifeifeg & ¥ fhem W@
ERAMT Ie= AR & g
% @ ¥ P 78 A 2
(1) Si&d g% g
(2) SiR<H To Ho Hibdl
(3) SIRTH THo THo i
(4) TR g9 fhem B
‘FIOTETg 39 Y9 @ AR ©
(1) giE@en T § O Ul @
SRERICEC |
(2)%—Wr&ﬁ%ﬁﬁ$;ﬁ B I
ECEEE| TErdl  JEH
F o]
3) aed Wafeea G @
S JEEe # o Ted JeN

FTT 5]
A g @ e @

(4) &l
AU I icdlied HH &Y

Level-3/321

[17]

83.

85.

[A]

Identify the text/texts, in which the
reference of Thanesar is found :

(1) Harshcharit

(i) Travelogue of Yuvan Chang
(111) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (1) and (i1)

(3) (i), (i1) and (ii1)

4) (1), (i1), (ii1) and (iv)

Origin/of the which of the following
rivers\is.not correctly matched ?

River Origin Site
(1)"Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

Who among the following did not
serve as the Chief Justice of the
Punjab and Haryana High Court ?

(1) Justice Mukund Mudgal

(2) Justice A. K. Sikri

(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

86. 'Pran Vayu Devata Pension Scheme'

1s aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical
staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.
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81.

frfoiea s & Togue § 9§

e e 98 T Ted gT ger ?

(1) o THo Tghal

(2) Tmia g &

(3) So THo B

(4) €N Tdo THo X

Recll-T8 Sl HReR & i

g ¥ wwaifad faw asveienfies

?ﬁﬁa&ﬁﬁﬂﬁaﬁﬁaﬁmww
?

(1) BIEEE — yaad siEnfies &=

(2) W — R fEy &=
(3) HUSell — NG T &
(4) IMEX — 9E9 a9 &8

89. ERAMM i JdT STENT o™ fhy

A & aR | A e
H TR HA B

(1) o9

(2) guld

(3) HE

(4) U9 foum |

gRaren & fgenfsdl &/ el Wi
2021 & Sfid T FHI T©H E

ooooooooooo

(1) 04
(3) 08

(2) 06
4) 19

[18]

89. The

81. Who among the following Governors

of Haryana died while in the office ?
(1) B. N. Chakraborty

(2) Ranjit Singh Narula

(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

about the proposed investment region/
industrial area under Delhi-Mumbai
industrial corridor in Haryana ?

(1) Faridabad — Palwal Industrial

area
(2) Rewari — Hisar investment
region
(3) tKundli — Sonipat investment
region
(4) Manesar — Bawal investment
region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/321
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[A]

[T - IV (PART - IV)
F7YX HIEH (COMPUTER SCIENCE)
e : =& 797 % I 37 % [ qa@ 3T ey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

AU H B .......... H TR B
fereEm e B
(1) BRI TR HHIY vae]
(2) 54t G @ A
(3) faafema
4)
92. (539),, F HARRMT H MEger &
g7
(1) ABE (2) CDB
(3) DES (4) 21B

93. THo THo g8 § CTRL + ALT +1 &

fe T foRam o ®

(1) Stagie kT & g
(2) 3R |1 W & fau
(3) HT TS HH B T

(4) 2T Ae FA 3 fw

MS-Excel ® countif a1 JINT

areqa ¥ e fore foan s ® 7

(1) TF T ¥ a9 B IO FH & [T
St & &% o & QU B ©

(2) T T § qF H T FE B €
T @ B

B) T W H T B TH A B
fere

(4)§Q¥ﬁﬁ¢ﬁaﬁaﬁwmﬁ%

95. HFYY FH € AN SN SIS, ", I,

AT AR AT HIAT 8
(HhTwyg (2) a9
(3) |9 U g (4) o
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9l1.

Code of webpage is written by
using ......... .

(1) Hyper text markup language

(2) 5th generation language

(3) Winzip

(4) Perl

92. What is representation of (539)y in

hexadecimal ?
(1) ABE
(3) 'DES

(2) CDB
(4) 21B

93.. In M. S. Word CTRL + ALT + 1 is

used for :

(1) Sharing the document
(2) Heading 1 style

(3) Bold the Content

(4) Bold the Heading

Countif function in MS-Excel is

exactly used to :

(1) count cells in a range that meet a
given condition

(2) count the number of cells in a
range that are blank

(3) count number of cells in a range

(4) count number of rows in a range

95. Part of computer which does addition,

subtraction, multiplication, division
and comparison is :

(1) ALU (2) Memory

(3) CPU (4) Control

P.T.O.
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[

[

96. U9 UTH Uad ¥ @€ I9 H & [

B9 fawey @&t e ?

(1) BHAH >> =1ed
(2) ST >> AEH

(3) FEE WY >> AEH
4) & >> aed

97. 3GWW 473 & foU i€ @& |

g7

(1) 111011010

(2) 110001110011

(3) 010001110011

(4) 10011110011

Th RN NEH PE AfE HEES
fredar 78 B ... d@qH B

(1) 4NF

(2) 2NF

(3) 3NF

(4) IWad ¥ q g &

99. fr=ifeifed & § &N wF 49 Wi

B 78 T 7
(1) %13 (2) G
(3) & (4)-FHeg

FYR e M AR
TTYE B @ U e IwT
ST B 7

s
fepan

(1) Foiied (rE)

(2) @

3) Biex

(4) =X

THF e H ATATT B B

(1) HH (FE F B T9e) Rar
(2) A (AR 31 B ) g
(3) sRRm R

(4) e
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96. Which option is correct to enter the

charts in MS-Excel ?

(1) Formulas >> Charts
(2) Data >> Charts

(3) Insert menu >> Charts
(4) View >> Charts

97. The BCD number for decimal 473

IS :

(I) 111011010
(2) 110001110011
(3) 010001110011
(4) 10011110011

98. A _function that has no partial

functional dependencies is in
form.

(1) 4NF

(2) 2NF

(3) 3NF

(4) None of the above

99. Which of the following is not a valid

aggregate function ?
(1) COUNT (2) COMPUTE
(3) SUM 4) MAX

What is used to input text and
numerical data in a computer ?

(1) Keyboard

(2) Scanner

(3) Printer

(4) Plotter

A queue follows ...........

(1) FIFO (First In First Out) principle
(2) LIFO (Last In First Out) principle

(3) Ordered array
(4) Linear tree



102.

bt
(2]

[
Y

bt
D

ot
]

SQL & Hi 77 &9 & ¥t ST el & -
(1) U g

(2) YA T

(3) BT Iqd

(4) THFIAT g

e ¥ e sm @ gk @
el & ?

(1) fepue (2) g

(3) gArHT (4) drq

I Tt ‘A", ‘B, 'C' @1 'D' W Th
FAR (F) F @1 IO & AR IT -
T% HY &l Nl 8, o 39 a<al @l
fpe 9 | e S ?

(1) ABCD (2) DCBA
(3) DCAB (4) ABDC
I T Tee qE w MERE §, S

o § AR @1 aie &, @ 98 d@e9y
T 787 = qepcl ¢

(1) /=8t TE 9 9ed

(2) INF

(3) 2NF

(4) 3NF

(2) Fod + I, Hed + 0

(3) P + TH, Pgidl + T
4) e + @, offee + 0

HYCL i SECH G CERY
forepfeg @ TR R 7

(1) S 99 A

(2) =S IR

(3) M T

(4) A &
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102.

=
w

=
TSN

=
[=2]

ol
]

[A]

SQL Views are also known as :
(1) Simple Tables

(2) Virtual Tables

(3) Complex Tables

(4) Actual Tables

Process of inserting an element in
stack is called :

(1) Create (2) Push

(3) Evaluation (4) Pop

If the elements 'A’, 'B', 'C' and 'D' are
placed in.a queue and are deleted one
at a time, in what order will these
elements be removed ?

(1) ABCD (2) DCBA

(3 DCAB (4) ABDC

If one attribute is determinant of
second, which in turn is determinant
of third, then the relation cannot be :
(1) Well-structured

(2) INF
(3) 2NF
(4) 3NF
You can use .......... to copy
selected text and .......... to paste it

into a document.

(1) CTRL + C,CTRL +V
(2) CTRL + C,CTRL + P
(3) CTRL + S, CTRL + S
(4) SHIFT+C, ALT+P

The basic architecture of computers
was developed by :

(I) Jon Von Neuman

(2) Blaise Pascal

(3) Garden Moore

(4) Charles Babbage
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C ®Ed e # scanf("%d",&val);
%I

(1) fscanf(stdin, "%d",&val);

(2) fprintf(stdout, "value=%d\n", val)
(3) scanf(value)

(4) scanf()

99 W IMed HM Tar @me H
STANTRAreT  #  HERdl &

fafarse gom ... Hedd Bl

(1) T F5H

(2) 99 &R

(3) A dhex

(4) |9 &5

g—ﬁ?rr glagr SeE B Al e
O WHAE Q) @A G
(3) e (4) 379 9 Fig Tl

HIF-A1 JfaR@se g doles™ & gd
gsﬁs_{zﬁr dqﬁmgwﬁmﬁiﬁqﬂ;ﬂg
ISESGIEIIN SIS

forg Wt & 7
(1) @Es d@eX (2) TEs. N
(3) &iEE WX (4).Igd I

<H{} ® WO GG TH I H;

fr=ifoiea =T aar &
(1) B3 @Y (2) dlhad @Y
(3) T @Y (4) AT ThIY

fr=ifoifeg & @ @9 Seeg § SHER
B FO H X SH § TqT Rl
gftafed ®, 0 @ geM SR
o9 H TUcH @l AN H Bl
BT Y& T © ¢

(1) S FAgaeH s

(2) ereT SN e
(3) T
(4) R whET
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108.

=
©

ot
ot

[
e

el
e

el
e

In C file handling equivalent to
scanf("%d",&val); is :

(1) fscanf(stdin, "%d",&val);

(2) fprintf(stdout, "value=%d\n", val)
(3) scanf(value)

(4) scanf()

Specialized programs that assist
users in locating information on the
Web are called ....... .

(1) Locator engines

(2) Web browsers

(3) Resource locators

(4) Search engines

The. protocol which provides e-mail
facility 1s :
(1) FTP

(3) TELNET

(2) SMTP
(4) None of these

Which PowerPoint view displays
each slide of the presentation as a
thumbnail and is wuseful for
rearranging slides ?

(1) Slide Sorter (2) Slide Show
(3) Slide Master (4) Notes Page

A variable declared within

block {} has the following scope :
(1) File Scope (2) Local Scope
(3) Class Scope (4) Global Scope

the

Which of the following provides the
ability to query information from the
database and insert tuples into, delete
tuples from, and modify tuples in the
database ?

(1) DML (Data Manipulation
Language)

(2) DDL (Data Definition Language)

(3) Query

(4) Relational Schema



bt

[

114. g § @ S MS-Excel &

T 9 I A B 7

(1) A:20

) B:15

(3) D6

4) 10H

fFefafad & @ Spea RET @
BN THT T TN TE T ?
(1) fo & e (o)

(2) 93/ e (S19)

(3) FEAEH FHIEAIE

(4) dfen-o9 gReHeT (oTE)

qeHid Hied B BH-E UH IO

fred emageadet & g9em 3 f
Ted ® G Th HifeT A el ® 7

(1) Reamde Fafa
(2) TH AR T

(3) T

(4) BEW RG

17. BT w9 & sROH frefatea § @

HY-T1 AT FFTE ?

(1) 99X &A1 & |9 oAb I8 Tl
% SO BIAH > [C IG BT
i1 5| ]

(2) I T & TIM QAlpT DA
d @ U P T IWEM e
i1 5| ]

(3) I FAS » THM Qe T8 T &
T TR & [ IWERT e
SIS

@) e 9w H TWE W
T B
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114. Which among the following is a

valid cell address in MS-Excel ?
(1) A:20

(2) B;15

(3) D6

(4) 10H

Which is not the right approach of
incremental testing approach ?

(1) Big bang approach

(2) Top-down approach

(3) Functional incrimination

(4) Bottom-up approach

Which is the step in waterfall model
that involves a meeting with the
customer to  understand  the
requirements ?

(1) Requirement Gathering

(2) SRS

(3) Implementation

(4) Customer review

Which of the following is true about

the HAVING clause ?

(1) Similar to the WHERE clause but
is used for columns rather than
groups.

(2) Similar to WHERE clause but is
used for rows rather than
columns.

(3) Similar to WHERE clause but is
used for groups rather than rows.

(4) Acts exactly like a WHERE
clause.

P.T.O.
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118. MO W RAsH & =91 999,

118. Which of the following is generally

[

[

RATE @ oM 99 FE B B B
fore Frfoiaa & & feraenr ST e
ST ® 7

(1) S FAgaeH st

(2) FA
(3) Ras=a AT
(4) grer SFIE e

i & & fa T A =@e-
e SRET B WY H Al T A B 7
(1) JfC SFAF T Bl bl

(2) festea-emenia R

(3) e R

(4) I § 9§ e T

Fd FEF FM 8 ?

(1) U6 HEdel Sl IUFFeRdi< STaar
o %l 31 H Uh JAfedde H gL
deige ¥ WHEART B Bl
START 34T B

(2) T HEF N fFoHl g @l
el o offsige & A1 a1 9,
3 Y YR H 2

(3) T FEFI IE S b fow 6
Sifeiged sNEX & a1 el

(4) TF DEgael o fhal Ru sifsiae
g Uikt b feciie e R

T g AR U9 H o ©
(1) U Jeamendl

2) www

(3) ATE Usfispd SIS A
@) 5 9 |4
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used for performing tasks like

creating the structure of the relations,

deleting relation ?

(1) DML (Data Manipulation
Language)

(2) Query

(3) Relational Schema

(4) DDL (Data Definition Language)

Which of the following testing is
also known as white-box testing ?
(1)" Error guessing technique

(2) :Design based testing

(3) Glass box testing

(4) None of the above

20. What is a copy constructor ?

(1) A constructor that allows a user
to move data from one object to
another.

(2) A constructor to initialize an
object with the values of another
object.

(3) A constructor to check whether
objects are equal or not.

(4) A constructor to delete other
copies of a given object.

A URL contains :

(1) Protocol identifier

2) www

(3) Unique registered domain name
(4) All of these



122. e & § SH-91 T H @Te-

[

[

[

[

T BRI H HE TG L 7

(1) T €

(2) i@ Us-31

(3) Rmfas
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float height[50];

(1) height[0)] W & T« aTd @l
GaRiq Y B

(2) height T % TBq T & Harqd
T B

(3) height[0 + 1] W & Yed a<d &I
Gahid w2l

(4) height[1] W & Yed T bl
GaRiq Y B

B 'cin' AR 'cout’ MR TN

B BT B B

(1) G%a9 % 999

() o & 'Y

(3) fifeT & w7

(4) & q PR T

T & fEEl w0 o§

Mg Wi @9 e 2l

(1) STSTYE IXHH
(2) IEEX

(3) FTYe 3T
(4) & q PR T

R /% #0 W & R
IS /TS Gl ol

(1) @ (2) BETIH
(3) dHed (4) -9
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Which of the following is not one of
Excel's what-if function ?

(1) Goal Seek

(2) Solver Add-in

(3) Scenarios

(4) Auto Outline

In the given declaration of an array :

float height[50];

(1) height[0] refers to first element
of array.

(2) height refers to first element of
array.

(3) height[0 + 1] refers to first element
of array.

(4) height[1] refers to first element
of array.

The functions 'cin' and 'cout' resolve
the necessary conversions at :

(1) Compile time

(2) Execution time

(3) Linking time

(4) None of these

transform the information

from binary form
acceptable form.

to human
(1) Output interfaces

(2) Processor

(3) Input interfaces

(4) None of these

On clickingona ....... , opens another
document/webpage.

(1) Anchor (2) Hyperlink

(3) Reference (4) E-mail
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(2) arT §
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(4) B9 §
TR THTH ......... P TF TIE
(1) = (2) TETH
(3) Tmefe 4) I9

C++ ofaer & ffoiaa & @ -1
Y R SR & ?

1 . (2) *

(3) :: “4) ~

TTeRed C++ UUM ¥ frefarad @t
AR A §

(1) &9 §: JEeg

(2) FENST F TH TETgHH T

(3) fFaeameiien

(4) gl fospeq @2 B

% A AFeddl-SuaRT Sisear
qied WM & fou Saraa Tfafateat
Pl GeHaryd M &%

(a) HiSieT

(b) =T

(c) Rwitae

(d) PERE

(e) HGFHAT

(1) a,b,c,d,e (2) b,c,e,a,d

(3) e,b,a,d,c (4) a,e,d,b,c

Fraffed & @ &9 & & @@ A
TR ?
(1) ge
(3) fe

(2) 3T
(4) SUST
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In C++, << operator used for shifting
bits can also be used for :

(1) Displaying values
(2) Addition

(3) Increment

(4) Decrement

Excel workbook is a collection
of :
(1) Chart (2) Wordbook

(3) Worksheet (4) Page

Which-of the following is the scope
resolution operator in C++ language ?

() (2) *

&/ 4) ~

Inheritance allows the following in
C++ program :

(1) Class Re-usability

(2) Creating a hierarchy of classes
(3) Extendibility

(4) All options are correct

Arrange the following activities to
form a general software engineering
process model :

(a) Modelling

(b) Planning

(c) Deployment

(d) Construction

(e) Communication

(1) a,b,c,d,e (2) b,c,e,a,d

(3) e,b,a,d,c (4) a,e,d, b,c

Which of the following is not a DDL
command ?

(1) TRUNCATE (2) ALTER
(3) CREATE  (4) UPDATE
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(1) S a4t

(2) T =

(3) feameT o foen

(4) RegaE

T WF H, g B ST (ToR)
el @l &% & fRel ohde (G9)
B TN B T BT 8, A QT
el I © °

(1) sfetr

() Gl G

(3) STaRwl

(4) TES GIE

CPU &l q& 9 S-FHeL/ AR 4
gﬂﬁaﬁwmwaﬁrww
(1) 2 U@ g

3) g e (4) (1) M(3)

dredl digl & e
(1) VLSI & S99 &4 a8

HEI
(2) faffed FT B TA T A
IUHEN B SWRT B a d8a

HY &
3) 3R gl B S ey @
ST o T o
(4) THIFEd |ibe H ST FA drd
e HYX 8
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The PowerPoint view that displays
only text-title and bullets is :

(1) Outline view

(2) Notes page view

(3) Slide sorter

(4) Slide show

The command center of MS-Access
file that appears when you create or
open the MS-Access database file, is
called :

(1) Database Window

(2) QuerynWindow

(3) Design View Window

(4) Switchboard

In a stack, if a user tries to remove
an element from an empty stack, it is
called :

(1) Underflow

(2) Empty collection
(3) Overflow

(4) Garbage collection

The part of the CPU that coordinates
all the functionality of the computer
and other components :

(1) Motherboard (2) ALU

(3) Control Unit (4) (1) and (3)

The third generation computers :

(1) Were the first computers to use
VLSI

(2) Were the first computers to use
built-in error detecting devices

(3) Used transistors instead of
vaccum tubes

(4) Were the first computers to use
integrated circuits

P.T.O.
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How many output signals can a gate
have ?

(1) Zero

(2) Two

(3) More than two

(4) One

The complement of complement of a
variable is always ......... .

(H 0

2) 1

(3) Equal.to variable

(4) The inverse of the variable

In ‘M. 'S. PowerPoint short-cut key

shift + F5 is used to :

(1) Start a slide show from the
current slide

(2) Start the slide show from the first
slide

(3) Close the slide show

(4) Go back to first slide during
running slide show

A generic function can be created
using the following :

(1) Inheritance

(2) Data hiding

(3) Polymorphism

(4) Template

is used by banking industry
for pre printing of characters on the
cheque.

(1) MICR

(2) OCR

(3) Bar Code Reader

(4) None of these
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int x;

int& y = x;
EB?Jl:f:y=25;x=2"<x+30;x\ﬁ'{y
% A H SUST HYA ©

(1) y=25,x=25
(2) y=25,x=80
3) y=25,x=30
(4) y=280,x=80

MS-Office ¥ MAR T IYAT U
M AW FAS AR T T @nd
T & fQ e AN R ST oae
g7

(1) ®Weg I}

(2) T A

(3) Y X

(4) A I

C++ # T &N SAfside & 99

R & T fh9 e @1 SuEm e
ST @Ry P

(1) &

2) @

3 $

(4) ST | | P TRl

PEieE R (PRME feuSH)

frfefag & 9 o 9 § s Hdy
g7

(1) 359

(2) i ()

(3) Hay (Raiem)

@) T (cfe=ge)
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[A]
143. Consider the following C++
statements :
int x;
int& y = x;

ot

el

e

The statement : y = 25; x = 2*x + 30;
updates the value of x and y as :

(1) y=25,x=25

(2) y=25,x=80

3) y=25,x=30

4) y=280,x=80

In MS:Office which can be used for
quicks, access to commonly used
commands and tools ?

(1) Status bar
(2) Tool bar
(3) Menu bar
(4) Title bar

Which symbol should be used to
pass the object by reference in C++ ?

(1) &
(2) @
3)$
(4) None of the above

A functional dependency is a

relationship between or among :

(1) Tables
(2) Rows
(3) Relations
(4) Attributes
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A linear list of elements in which
deletion can be done from one end
(front) and insertion can take place
only at the other end (rear), is known
as :

(1) Queue (2) Stack
(3) Tree (4) Linked list
What is meant by multiple

inheritance ?

(1) Deriving a base class from
derived class

(2) Deriving a derived class from
base class

(3) ‘Deriving a derived class from
more than one base class

(4) None of the mentioned

In which stage individual components
are integrated and ensured that they
are error free to meet customer
requirements ?

(1) Coding

(2) Testing

(3) Design

(4) Implementation

In MS-Word what is gutter margin ?

(1) Margin that is added to the left
margin when printing

(2) Margin that is added to the right
margin when printing

(3) Margin that is added to the
binding side of page when printing

(4) Margin that is added to the
outside of the page when printing

Level-3/321
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